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3. (a) If the voltage across the device is

i%jb%};}ik%é ‘%Iﬂ-%"&/;g‘ -‘f%‘iﬁ 96 #-Eﬁ\kiﬁi%g iig—%ﬁ‘ V(1) =5+10sin{w? +30°) +15sin(2wr +90°) + 20sin(3wr +180°) V,

and the current flowing through the device is

%’;ﬁﬁ?ﬂ.%‘] : 120 %j] %'}"é ﬁﬁﬁ%&‘/gﬁ:&%ﬂi i(1) =10+20coswt +30cos2wt +40cos3wt A.

X A 5 2B Determine the power dissipated in this device. (10%
5t RATE ¥4 P p (10%)
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(b) A %QVMS line feeds two balanced three-phase loads. If two loads are rated as

*E % 15 - follows.

| RS 5 - B2 100 4 ¢ Load 1: 54/5kVA at 0.8pf, lagging

OB AM - THGLHRIAL  FTLPH - Load 2: 1045KVA at 0.6pf, leading

LEHERAPELZRELERMAES - FRIFATHA - Determine the magnitude of the line current from the {%9 Vi source. (10%)

1. Find v, (¢) in the following individual circuits. (10%, 10%)
4. Find the rms value of the following periodic waveform v(r). (20%)
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(2) (b)

5. The two parallel inductors in the following circuit are connected across the terminals of a

2. (a) A 50mV, lmA d’Arsonval movement is to be used in an ammeter with a full-scale _ » )
black box at 7=0. The resulting voltage v(¢) for ¢>0 is known to be 12¢7'V . It is also

ding of 10mA. Determine R 4. (10% .
reasiEs - Ll known that /;(0)=2A and i,(0)=4A . How much energy is trapped in the two inductors?
(20%)
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(b) A 50mV, 1mA d’Arsonval movement is to be used in a voltmeter with a full-scale _
¢ . O

reading of 5V. Determine Ry. (10%)
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